{3.12~3.164}

(@) dyp = 0.450 m

M _ 12N-m _
F”'_dAB_ 0450 m 207N

(b) dye = 0.240 m

M _ 12N-m _
Fa_dBC_ 0200m  POON

(©) dye = \Jdiz+die = V0.450°+0.240° = 0.510 m

M _ 12N-m _
F“_dAC_ 0.510 m 235 N

3.82 [ 2244 571 d-%9 |
P=30N, P=30N]
dyp, = 005 m, dy,=0.03m

(a) 5F : Py =P =30N
VYSM, : My~ Py dyp =0
S My = Py odyy = (30 N) (0.05 m)
= 1.50 Nm
300N |, Mg = 1.500 Nm )

= Pp

(b)FB=F<*, FC=F*>
YoMy My = F dgo

L g Mg 1.500N - m
dpe 0.03 m

= 50.0 N
= Fg=500N <, Fc=500N—
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F,p =175 N
C
I's/c
rgic = (0.750 — 0.067) i + (0.990 - 1.850) j (m)
= 0.6831—-0.8603 (m)
B

d,p, = (0.100 - 0.067) m = 0.033 m
dip, = 0.990 m, d,p = -0.594 m

dyp = \/dAQBCL‘ + ijy + d/%Bz

= 1/0.033240.990> + (—0.594)2 m = 1.155 m

1 . .
AAB = dAB (dABw 1+ dABy 1t dABz k)

_ 1 : _—
= 1155 [0.033 1 + 0.990 j + (-0.594) k]

Fag = Fup Aup

_ 175N : —_—
= 1155 [0.033 i + 0.990 j + (-0.594) k]

5.00 i + 150.0 j + (-90.0) k (N)

Fc = Fag = 5.00 1 + 150.0 j + (-90.0) k (N)

Mc = rge X Fag = [0.683 1 — 0.860 j (m)] X [5.00 i + 150.0 j + (-90.0) k (N)]
[(-0.860)(-90.0) + 0] i + [0 - (0.683)(-90.0)] j

+ [(0.683)(150.0)-(-0.860)(5.00)] k (N-m)
7741+ 6157+ 106.8 k (N-m)



